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1.

id-Lesson 5

Use the centimeter side of a ruler to draw in the tiles. Then, find and label the unknown side length.
Skip-count the tiles to check your work. Write a muitiplication sentence for each tiled rectangle.

a. Area: 12 sguare centimeters

| can use my rulerto mark each centimeter.

3 Then, | can connect the marks to draw the
tiles. I'il count the square units and label the
unknown side length 3 cm. _

6 v

4cm

® Next, 'll skip-count by 3 to eheck that the
total number of tiles matches the given area

12 of 12 square centimeters. )

3cm
<
4 ¥ 2 = 12 { can write 3 for the unknown factor because
my tiled array shows 4 rows of 3 tiles.
A

b. Area: 12 square centimeters

4
3cm 8
2
( After [ use my ruler to draw the
tiles, | can count to find the

4 cm
2 x4 = 12\\ unknown side leéngth and label it.

| can write the number sentence 3 X 4 = 12 because
there are 3 rows of 4 tiles, which is a total of 12 tiles,

The area of the rectangles in parts (a) and (b} is 12
square centimeters. That means hoth rectangles
have the same area even though they look different. J

Lesson 5: Form rectangles by tiling with unit squares to make arrays. EUREKA
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2. Ella makes a rectangle with 24 square centimeter tiles. There are 4 equal rows of tiles.

a. How many tiles are in each row? Use words, pictures, and numbers to support your answer.

™\

S3383333833338383

I can draw  had to draw 6

columns columns of 4

of 4 tiles tiles to have a

until | have total of 24 tiles.

a total of That means

24 tiles. there are 6 tiles
in1row.

S/

4 g iZ 18 20 24

£

There gre 6 tiles in eoch row. | drew columns of 4 thes unti | had o totol of 24 tifes. Then !
counted how many tiles are in 1 row. | could olso find the answer by thinking about the problem
as4d % = 24 becouse Hinow that 4 X 6 = 24

b. Can Ella arrange all of her 24 square centimeter tiles into 3 equal rows? Use words, pictures, and
numbers to support your answer.

| drew columns of 3 tiles until |
got to atotal of 24 tiles. i had
to draw 8 columns.

3 & 9 12 15 18 21 24

Yes, Eila con arrapge oll of her 24 tiles into 3 eguol rows, [ drew cofumns of 3 tiles until i hod o
totol of 24 tiles. {con use my picture to see thot there are B files in eoch row. { con olso use
multiplicotion to help me becouse [ know that 3 % 8 = 24,

c¢. Dotherectangles in parts (a) and {b) have the same total area? Explain how you know.

Yes, the rectongles In poris {a} ond [b) hove the some areq becpuse they are both moade up of
24 sguare centimeter tiles. The rectangles ipok different becouse they have different side lengths,
but they have the sume oreg.

This is different than Problem 1 because the rectangles in
Problem 1 had the same side lengths. They were just rotated.

gu&ﬁm iesson 5: Form rectangles by tiling with unit'squares to make arrays. Fi
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